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  When x = 0 and y = 35, 
  f(0) = 24.9(0) c− +  = 35 
  c = 35 
  f(t) = 24.9 35t− +  
 
 b f(1.5) = 24.9(1.5) 35− +  = 23.975 
  The height of the arrow is 23.975 m. 
 
 c f(0) = 35 
  The height of the castle is 35 m. 
 
 d The arrow will hit the ground when the 

height is 0. 
  24.9 35t− +  = 0 

  t = 35
4.9
−
−

 = 2.67 or −2.67 

  The time must be positive, so 2.67 
seconds. 

 
 e The assumption is that the ground is flat. 
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